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OSEEAYEIE 2= 1,000, 000& 1,000
207 Ao H| 43,000 0 43,000
01 2284 43,000 0 43,000
OH A& 43,000
— NSk SEHSE HEA JFAIAL S
5,000, 000& 5,000
~DYFNT +TUH M BY
19,000, 000& 19,000




AN ZHMLSH
M DsHE A
el 2N AL (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
“SOEH A Oodos cdBdS OV ES
19,000, 000& 19,000
307 glz2tol & 2,100,000 4,000,000 A 1,900,000
09 2HAHAEXS 2,100,000 4,000,000 A 1,900,000
OUWUTIAKNE SN as X3
2,100,000, 000& 2,100,000
SEY WsSZY L=z ALY 250,000 223,294 26,706
= 50,000
< 100,000
s 100,000
301 YerE A 250,000 223,294 26,706
2 50,000
< 100,000
[ia 100,000
12 JIEHE4 = 250,000 223,294 26,706
OZHIE= A 250,000
—SotE #E SN SHAAI
250,000, 000& 250,000
= 50,000
< 100,000
[ia 100,000
SHEHA WSIHEANLE 2= 47,000 45,400 1,600
< 22,500
e 24,500
307 glz2+ol & 47,000 45,400 1,600
< 22,500
e 24,500
09 2+HAHEEXS 47,000 45,400 1,600
OFH & XA 47,000
—HA NENERS =2 N3
7,000,000& 7,000
< 3,500
s 3,500
—HA NSIHERS 10%Q X3
36,000,000& 36,000
< 18,000
s 18,000
— Al JIERS +=+2 X&2 4,000,000& 4,000
< 1,000
e 3,000
IME=3=I N EPNE--| 201,000 181,000 20,000
< 500
s 200,500
307 eI+l & 201,000 181,000 20,000
= 500
i 200,500
05 RIZHRI &3 200,000 180,000 20,000




AN ZHMLSH
M DsHE A
ool 2se Ke CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OEguesE=xt AE249 40,000,000 *5CH 200,000
09 2+FAHEXS 1,000 1,000 0
OZHIEXZAY 1,000
—SguE4H 9252 =ds X
1,000,000& 1,000
< 500
s 500
EEAISE ZAALES 11,200 0 11,200
= 5,600
[ia 5,600
207 Ao 2| 11,200 0 11,200
= 5,600
s 5,600
01 2284 11,200 0 11,200
OZHIEx= A 11,200
— M4X SHAIZEE ZAES 11,200, 000& 11,200
= 5,600
s 5,600
GEotMEHDIE M2 EX&EH X 1,000 0 1,000
= 500
[ia 500
405 XtatE SHI 1,000 0 1,000
= 500
[ia 500
01 THatH ESFH S 1,000 0 1,000
OZ3HIE= AL 1,000
— 4ot 82 EXEY 2
1,000, 000& 1,000
= 500
e 500
IR 476,950 2,186,530 A 1,709,580
< 60,000
s 416,950
SURI & MR =4 476,950 2,186,530 A 1,709,580
< 60,000
s 416,950
ENRX K& 207,490 766,914 A 559,424
201 £B-2%| 29,430 9,430 20,000
01 At 22l 29,430 9,430 20,000
Oget==EH| 6,050,000& 6,050
Ot s3I Maz5 S22 M
20,000,000& 20,000
OfIds 29 =¥ 980,000 980
O=&Hl 2,400,000& 2,400
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g XA

el
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ZHnESn
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SNSRI & AP =4

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
202 o4 | 5,760 5,184 576
01 2L I 5,760 5,184 576
ENGX =X 5,760,000& 5,760
207 I | 20,000 0 20,000
01 A& | 20,000 0 20,000
OMEEXN MLIsXYE AEHZA 99
20,000,000 20,000
301 et A= 2,300 2,300 0
09 HAIAHIBEAZ 300 300 0
ENsX 8493 &L 2 30,000& x10H 300
12 JIEtE & =2 2,000 2,000 0
ENGX QU2AREX ELAS 2,000,000& 2,000
401 AlEHIZL 2 0HY| 150,000 750,000 A 600,000
01 Al&H| 148,740 745,050 A 596,310
O=2EH0II3a ZEAIY FEHIE Fo=3 A
& 99,280,000 99,280
OJILKX JIBHAIE XS 49,460,000 49,460
03 A& E2HH]| 1,260 4,950 A 3,690
O=ZEBLH0I3E ZHAIY F=HXY Fo=J A
! 100,000,000 *0.72/100 720
OIS KX JIBLAIE X
50,000,000 *1.08/100 540
ey XEAY 3,560 3,560 0
201 et | 2,360 2,360 0
01 AP 2t 2] H| 2,360 2,360 0
Ogttf=24| 2,360,000 2,360
301 et A= 1,200 1,200 0
09 HAIAHI EAZ 1,200 1,200 0
OJIgoz WaEsEs AKX A
10,000& x30H 300
OFEY & A= EEF EAX B4
30,000& 15 x23| 900
A2 SHIME ALY 200,000 100,000 100,000
o 60,000
= 140,000
401 Al HI L 2 0HHI 200,000 100,000 100,000
= 60,000
= 140,000
01 Al&H| 200,000 99, 100 100,900
OEH EXZAY 200,000
—AR20|Y S#HINEAE 200,000,000& 200,000
o= 60,000
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SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 140,000
SAZ2 X4A 52,500 40,000 12,500
201 2Bt Ay 32,500 10,000 22,500
01 AFR2 22| 2,500 0 2,500
(@)1 2,500,000 2,500
03 AR HAH 30,000 10,000 20,000
osgaA SHAE OH = 30,000,000 30,000
401 Al HI L 204 HI 20,000 20,000 0
01 Al&H| 19,784 19,784 0
ostEA INE=Rl e 19,784,000 19,784
03 AIE 2 216 216 0
ogsA A2 AL WES
20,000,0002 x1.08/100 216
MASEX ZAA 13,400 812,056 A 798,656
01 B2 A 8,600 8,600 0
01 AP 22| 8,600 8,600 0
Ot ct >=Z4| 7,000,000& 7,000
O=&Hl 1,600,000 1,600
202 o4 | 4,800 3,456 1,344
01 2L I 4,800 3,456 1,344
(@R A= PN &l 4,800,000& 4,800
s 2 FA 6,735,603 4,435,392 2,300,211
= 1,707,969
oy 80,144
& 830,035
= 4,117,455
el &= 2,771,840 2,155,227 616,613
= 202,250
Fag 80,144
= 120,185
= 2,369,261
2222 AL 500,509 451,887 48,622
101 Q124 H] 495,109 446,487 48,622
04 JI2ZtHIZ2 2 ANEES 495,109 446,487 48,622
OZ22Z22Z MY 495,109
— 2222 A EHOH A Q24|
66,800 x22H x300 440,880
— 428 = 440,880,000& x12.3% 54,229
201 gBt24 | 5,400 5,400 0
01 AFR2 22| H| 5,400 5,400 0
O&222 =23 7Y 3,000,000 3,000
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O= &l 2,400,000& 2,400
NEISH LAl A 160,288 160,288 0
s 80,144
< 24,043
[ 56,101
101 @124 dl 144,288 144,288 0
s 64,144
< 24,043
e 56,101
4 D12t ZE2XREES 144,288 144,288 0
OnELHESIIAHAMS 144,288
—NESsH AelAY S0 148l
45,1803 16 «178L 128,673
s 64,144
< 24,043
= 40,486
—4UEE = 15,615,000& 15,615
201 LBt 2,000 2,000 0
= 2,000
01 At 22l 2,000 2,000 0
OCnELHMESIIAHAMS 2,000
—XNESZsH LAY 22l
2,000,000& 2,000
s 2,000
202 oidl 4,000 4,000 0
s 4,000
01 = LH YI 4,000 4,000 0
OZELTELIAAMY 4,000
—NEEssH LAl dR2FA
4,000,000& 4,000
s 4,000
206 M= Hl 10,000 10,000 0
s 10,000
01 =8l 10,000 10,000 0
OZELHEELIAAMY 10,000
— NS LAelAY g2y
10,000, 000& 10,000
s 10,000
SEE LXelAE 322,330 291,962 30,368
101 124 dl 316,570 285,482 31,088
4 D122 E2XNESES 316,570 285,482 31,088
OXs8 LAY 316,570
— WA Al 66,8003 20 x211 281,896
—40 BEE = 281,896,000& *12.3% 34,674
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el YXel S (29l & 2)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 5,760 6,480 AT20
01 = LH 4 Hl 5,760 6,480 AT20
OXEE LXelAg g2 =8 5,760,000& 5,760
MZ22 itel&dE X3 A 530,000 430,000 100,000
101 @124 dl 500,000 400,000 100,000
4 DIt Z2XREES 500,000 400,000 100,000
OMZ2 gXtel 2EX2AY B0 el
50,000,000& = 1070 AH & 500,000
206 M= Hl 30,000 30,000 0
01 =4l 30,000 30,000 0
OM=Z2 ¢Xtel XA =X HZH|
30,000,000& 30,000
6070 ME=HI)IsUH 24 730,158 821,090 A 90,932
101 @14 Hl 720,158 811,795 A91,637
04 JIZHHZ22XREES 720,158 811,795 A 91,637
06070 M=sHIIsH 22 720,158
— 0 22| 33,4003 *80H 240 641,280
— 428 = 641,280,000& *12.3% 78,878
206 M= Hl 10,000 9,295 705
01 MHZ 4l 10,000 9,295 705
06070 MaEHI)IsH 23 M +
10,000, 000& 10,000
28 €Ll A 171,355 0 171,355
= 56,250
< 33,842
i 81,263
101 @124 Hl 169,055 0 169, 055
= 56,250
< 33,842
s 78,963
04 JIZHHZ2XREES 169,055 0 169, 055
OZHIEx= At 169,055
— w22 lelAY FWX Al
140,625,000 140,625
= 56,250
< 25,313
[ia 59,062
— 428 = 17,930,000 17,930
< 5,379
e 12,551
—us=XHE 10,500, 000& 10,500
< 3,150
s 7,350
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45,000
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27,200
40,800
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68,000,000&

EUNE

68,000
68,000

68,000

27,200
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50,000
12,000
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AN ZHMLSH
g gdxeld¥E € HE N
Shel: YRelEE (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 12,300
s 36,700
301 et 8= 100,000 0 100,000
= 51,000
= 12,300
s 36,700
12 JIE24= 100,000 0 100,000
OZHIEx= At 100,000
— ST BAENAMHI A S oA X2 A
& 100,000, 000& 100,000
= 51,000
< 12,300
s 36,700
Hg XA 27,060 22,300 4,760
< 6,560
s 20,500
2l SEHH 22 27,060 22,300 4,760
< 6,560
s 20,500
101 14l 1,560 1,800 A 240
< 1,560
03 RIAHA2Z2RE > 1,560 1,800 A 240
OEHIEXZAY 1,560
— A2 LIeldE HPASA BIXI ALY 048]
1,560,000 1,560
< 1,560
201 Let249] 20,000 15,000 5,000
< 5,000
[ia 15,000
01 At 22/l 5,000 5,000 0
Oget==EH| 5,000,000& 5,000
03 &Ar2 I 15,000 10,000 5,000
OEHIEXZAY 10,000
— Aoy HEYs Ky L XL
10,000, 000& 10,000
< 5,000
s 5,000
OgielZHeres izl X 5,000,000& 5,000
206 M= Hl 4,000 4,000 0
01 =4l 4,000 4,000 0
OgXiel gl 23 M=l 4,000,000 4,000
301 LAz 1,500 1,500 0
09 A HIE &S 1,500 1,500 0
OMsEa & NSFAI HAAH BE&=
1,500,000& 1,500




SA: ZHDSD
Ho: AN2FE L HY N

S HoHel fXtel X (9 ® =)

SA-Z3H-SH2A(3AH) - A
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o

0l &t o

=

M
2Hm
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£l
Ol
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HOoHel LXel X& 745,038 572,882 172,156
367,019
115,606
262,413

HH A

ZOHA L X2l XA (SXLXtel) 163,860 137,280 26,580
81,930
24,579
57,351

HH A

101 1A dl 167,114 132,600 24,514
78,557
23,567
54,990

HH A

041N Z22XNHSE 157,114 132,600 24,514
O=HIEx At 157,114
— 0 SN2 a2
157,114,000& 157,114

78,557
23,567
54,990

A

201 et 6,746 4,680 2,066
3,373
1,012
2,361

Mo A

01 AP 2t2ltl 6,746 4,680 2,066
O=HIEX A 6,746

— 0 SXNLTeAYE 22
6,746,000& 6,746

3,373
1,012
2,361

HH A

oL e X (et driel) 520,572 379,882 140,690
260,286
78,086
182,200

HH A

101 Q124 4] 520,572 379,882 140,690
260,286
78,086
182,200

HH A

04 DIt Z22HsSE+ 520,572 379,882 140,690
O=HIEx At 520,572

— ZO0HQ Lera LRl AP 520,572,000 520,572

260,286

78,086
182,200

M A

oL X2l XI& (AltM L Xel) 49,606 44,720 4,886

24,803
7,441

A




A ZHRSD
M dnelEsE ¢ FHY Nd
S HoHel fXtel X (9 ® =)

SN - EAEA) - MRAL
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o

Off &t 24

=

M
2Hm
==
£l
Ol
0y

HJ

17,362

101 1Al 49,606 44,720 4,886
24,803
7,441
17,362

MR

04 JI1ZtHNZ22 s+ 49,606 44,720 4,886
O=HIEx= ALY 49,606

— 0 AZME R A 49,606,000 49,606

24,803

7,441
17,362

MW

ZoHrdRel (= XhAl) XA 11,000 11,000 0
5,500
5,500

M

101 1Al 11,000 11,000 0
5,500
5,500

EUNE

04 JI2ZtHZ22 s+ 11,000 11,000 0
OEHIExXAEY 11,000

— oYXl (s XA) XA
11,000,000& 11,000

5,500
,500

H N
o

Lol gdXtel X& 3,191,665 1,684,983 1,506,682
, 138,700
587,684
,465,281

Mo H

—

Colgiiel & A ESKE =i 2,277,400 1,250,686 1,026,714
, 138,700
341,611
797,089

Mo H

101 1Al 1,363,654 846,544 517,110
681,827
204,549
477,278

Mo A

04 DIt 22 XS+
O=3HIEXAY

— ol TtelAbYE WA Q2]
1,363,654,000&

—

,363,654 846,544 517,110
, 363,654

, 363,654
681,827
204,549
477,278

MW

[he}
2
ne
=
Mo
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o

51,800 27,000 24,800
25,900
7,770
18,130

MW

1T AFR 228l 51,800 27,000 24,800




FAN: FHLSH
Ho: AN2FE L HY N
Chelr Lol gdXtel X (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OZHIEx= At 51,800
—LoldTtel Aty 2B 51,800,000& 51,800
= 25,900
< 7,770
s 18,130
202 O4dl 5,000 4,000 1,000
= 2,500
< 750
s 1,750
01 S LHAYI 5,000 4,000 1,000
OIHIE= At 5,000
— 5.8 LodlelAmgE 222
5,000,000& 5,000
= 2,500
< 750
s 1,750
301 L2 A F 15,060 15,600 A 540
= 7,530
= 2,259
e 5,271
09 HALAHIEA S 15,060 15,600 A 540
O=HIEXZAY 15,060
—LogdTtelAY A AEHIEAS
15,060, 000& 15,060
= 7,530
= 2,259
s 5,271
307 glz2tol & 841,886 357,542 484,344
= 420,943
< 126,283
[ia 294,660
11T AS S RAEE = 841,886 357,542 484,344
O3BIEX ALY 841,886
—Lordxiel At 841,886,000 841,886
= 420,943
< 126,283
s 294,660
CEME OHETIE ALY 312,615 434,297 A 121,682
101 @124l 64,250 96,000 A 31,750
M4 II12HHZ22NSES 64,250 96,000 A 31,750
OLoldXtel At E#W A elHdl 64,250,000 64,250
307 glz2tol & 248,365 338,297 A 89,932
11T AISI S XA E = 248,365 338,297 A 89,932
Ol gdRelMS (SHEH) 248,365,000 248,365
ALIEY 29 300,000 0 300,000




2N
X ZH -
L= B

el

52 3 A

A ZE a9 (3) - HRAY - By il 2
< 50,000
s 250,000
307 glz2tol & 220,000 0 220,000
10 AL SXAIEEE 2 H EX 220,000 0 220,000
OAlLIoIZ2Y 2¢ 220,000, 000& 220,000
402 RI2HXt20l ™ 80,000 0 80,000
< 50,000
[ 30,000
02 2IZE T2 AL EZ (OIS ) 80,000 0 80,000
OEHIEXZAY 80,000
—ANUOEE &X N 80,000,000& 80,000
< 50,000
s 30,000
olgdxtel 2 AlsEsSXd =W (=) 301,650 0 301,650
< 196,073
i 105,577
101 @124 dl 162,090 0 162,090
< 105,359
e 56,731
4 D12t ZE2XREES 162,090 0 162,090
OZHEXZAY 162,090
—LodTtelAtE EOA A
162,090, 000& 162,090
< 105,359
s 56,731
307 21201 A 139,560 0 139,560
< 90,714
i 48,846
11 ALS S XAEE = 139,560 0 139,560
OZHIEx=AMI 139,560
—Lordxiel AtY 139,560, 000& 139,560
< 90,714
[ia 48,846
HE2IAZH (FMREN) 32,200 24,580 7,620
JlE3l 32,200 24,580 7,620
Jl2&l 32,200 24,580 7,620
201 Let24E] 11,200 10,180 1,020
01 At 22l 11,200 10,180 1,020
Oget=&H| 11,200, 000& 11,200
202 04 dl 12,000 10,800 1,200
01 = LH YI 12,000 10,800 1,200
OBHSL (AR, AOIU, 938 &4 S)
12,000, 000& 12,000
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ZHnESn

M HE2GIU(FMLS)
¢hel: D123l
SA - ZE-B(EA) - NRAY - B S il
203 YR =&l 9,000 3,600
01 J|22F P2 =8| 4,800 0
OZMAEL=E 4,800
04 NI FAH 4,200 3,600
ORNZ2EYRFA 350,000 1200 & 4,200
HEes(ZHMnsn) 200,000 200,000
HEAHH K= 200,000 200,000
Bt AN ES 200,000 200,000
702 J1S¥ES 200,000 200,000
01 JI3dE= 200,000 200,000
Ozl & 48

200,000




